T R23E R 5 AT S B L D EWORENR (55278%R)

F23FE7A8H (£) 15F000 R
EERKERAL
1 BRERRKR
3H11H 14:46 EHE6TR: [T, 28T, AT, E AT, RSA, & AT, KAERT JRVTAT, 54T, FaBEmT
FUHEHT | 7 HHT
65T fEE T, AR, BRI, SEPTET JIERET, PR, JRORET FR A, IR, ZNBPRT

?%HEE rEETH, R EPET F)IET, HATT . W, AT, SREEAT, ARE T, AR T,
P A GHT

EEESHR: KER, RIGAT, RASET SR, A JIET, 30T, B RA AT, SEnh ., S8R
BT, =2 5T, GJIAT, SHESE BT AR RET
Z DA RPN 38 T 555 ~ 2 B
14:49 I e, (R ) &R
3H12H 20:20 LR R (FE) ~ B0 2
3H13H 7:30 B EEHRAYIEZ
17:58 N R R AR R
4H11H 17:16 A6 AT, AT WX
FREESTR: [, =2, BEA BT KAk WA T, SE A, )IET
Z DO IR PN A8 TR 555 ~ &1
17:18 A s R
18:05 R T R R
4H12H 14:07 EE6H: WX
FRPESSR: ) I[WT | TR
Z DO IR N A8 T 555 ~ A B
2 B-mEHOGEH (KERNKABFHREKR)
(1) 8 3H11H 14:46 SEERPRASHRER M, B EZRA S i A
(2) HETH  SKEXRAIRERE . 49T TR GEHBIH)
3 EEHOWKRGE#IETR. BIERU BT HE) AR
t 81.264 A (E[ET 14,280 A, FFHE 114,269 A, IRITHT12,967 AI1E2)>)
[ b AR S RPIZTA 7T H TR, EAMITH AR )
AN 17,781 N (—UBEEEREEEAT] 2,798 N WRREFEL HkfE - A7 L2 114,983 )
NI=V7N 35,776 A
4 HEDOKR  FHHAIE

B

[

2

(1) AHITE
SEH 1,734 N (FFHES 589 A, M TH449 A, Wb EHi308 A, JRILAT128 A, HTHIET100 A1E7)
AT A 224 N (FEFEEEHIS6 A, JRILHATE5 A WX i42 A AHEETH10 A, BT 10 AIEDH>)
EyEa 84 N (HSTHTLA, Wh&EH3AIENY)
-G 152 X (MMM HS7T A E R ET20 N1372»)
(2)ERWE  FHARE
- 16,144 #f 2,455 fit#F 1,813 A R EIRK 62 T 0 fH 0 A
o B 31,944 4,161 fitHy 2,236 A R TRK 339 ## 106 {45 0 A

- — SRRk R 99,841 #ifi 13,206 #5680 A
CIEIRER SE A AR

<A 1,015 ## - ZOAh 14,804 #f
5 SHERESE O HENE A S

Rl A= 9,952 A R EILIEI=! 23,866 A
6 Thith
(& &

CEARLS. . S~ B FRIE HD RIABRE)
(2) — % E % SEHR AR
FEEE [EE6S —EEEEEOF &S D SRRam e T AT (2 X XS A R)
— i EE [EE114 5728 4fEPr Cil T1ED
BE BT ERR72E 368 pT CillT Ik
EHE MEEER 1EFTCETiEd
(3)EEE R w45 H B HE JRBFIC~ B A% [ ICA MR & N A, T r]
(4)ZFDh
ASEE Rl O—5R (A Mk | SREEERR R Xk & N7 N R k) ©34,297
NTTIEIFE EEHEFS 7R KK C 14, 100[E8R A8, BEEEFTO6 1 ATl 27T 103 IR DR et A A EE il (R} 3%
SOKIE HER R E e, RS R X872 727,755 77 Tk



2.8 - T ET Y O A

A g2 T ﬁé%ﬁ%ﬂ:&ﬁﬁ —
= E e HE EENE AR
1 RSR 3A11E [ 1446 |
% i KEXTRAES
WU | HETHE TEZOE HHZEO6
BE™T 3F11H 14:50
19 ZAR¥H 38118
18 FEH 3A118 15:00
61 P N ] 38118 14:50
55 = R HT 38118 15:00
42 SYTHET 3811H 14:59
42 JIMRHET 3A11H 15:00
58 REHM 38118 14:46
20 Zumm 3H11H
20| ZBEIWM 38118 14:50
20 Bff™ 38118 15:00
20 R AHET 3A11H 15:00
20 REF 38118 15:50
20 A JIET 38118 15:00
20 EJ)IIF 3A118 15:15
20 B4 38118 15:00
20 %I ET 38118 15:00
161 =) 3A11H 14:50 48128 17:15
20 =&HT 3A11H 15:30
59 INEFHT 3A11H 15:00
19 =pan7l 3H11H
24 icp /i) 38118
19 SRUEFF 38118
19 hEF 3A11H
19 5 W BT 38118
19 Y=t 38118
24 RERET 3A118 38128 17:00
19 =i 38118
19 kS 38118 3812H 18:00
18| &SFEFEWT 38118 14:46
18 E%ATM 38118 14:49
18 AR FhET 38118 15:18
18| ¥&EHEKHT 3811H 15:00
23 | SFEIRTHT 38118 15:00
18 TR 38118 15:30
18 HN;E T 3811H 15:00
184 REFNAT 38178 16:45
18| SiFERXEM 38118 16:00
81 R RHT 3H15H
36 HEM 38118 14:55
36 BEHEET 38118 15:00
55 [ EFET 38118 14:50
36 HEEEHT 3H11H 15:00
189 = [ ET 38118
80 SRITHT 3811H 15:00
36 JIIR#T 38118 15:15
184 KHE 38118 15:00
184 WEEHT 3A118 14:50
36 BEER 38118 15:00
36 it AT 3H11H 14:50
36 EREEFRT 3811H 14:55
34 WhETh 3A11H 14:50
LIRS 52 3




M DINREHIER. BIE RV BT RE)

53'3\ FHETA 4 1% A% 7%
=nt 38[21 1t
JI{RET 1,217
BT 1,517
SR 30
BHET™H 14,269
" TR Er T 2,882
% R 7,451
< = [E Ay 14,280
= ks 2
PN 15 11,507
pyE1:)) 9,302
SRITHT 12,967
BEAN 1,148
B S AT 1,707
£ 74317
% HETF 4 0 A% w%E
W
B
o
&t 0
% THETAT 45 X A% i
_ B T 5 8 P
e SRR ETBA)
S ek 5 By 3 8
b~ N Ol mssmgE170A)
: S5 AT 1 B
fpEd Ol msemstE30N)
- BT %
E AEH Of (+ g2 000 A)
- SR E AT
ﬁ JIMRHET Ol (+E st =60 0)
5 S5 8 BT 3 B8
AEH N+ Ezpstaza )
36 84 By 5 5 P
BRIl Ol msemigEoao A)
g SR 1B AT
AENH O (+ B St gk 25 1)
36k 5 iy 2 8
M Ol mssmazizN)
- o EERE R 1 TP
= (+ﬁ%ﬁ%¥ﬁ%z)\)
SR 2E P
st O +mzmiazi3)0)




o et RESEFT 1 &R
RFHLT O+ st A5 AN23A)
. S6t 2 BT 1 B8 T
e Ol (L BT D2 ANIN)
o SR B AT
SR O (+BTS A B ANIZA)
e R R 2 P
Y FLET O+ EemstE®13N)
: BESEFT2E R
KR THE Ol (F RIS M DR ANIZA)
. BESERT 1R
A2 ET Ol (BT S MDZAN22N)
. BESEFT 1B R
RFREMET Ol (+ BTSN ANIBA)
. SR 1B R
m = AT Ol (B D2 ANEA)
ST 5713 EEFTSE AT, MR E T
JITR#T 1,047
B 6,775
N | T R A% iz
JE Wh=Th 172 RS AT 11 & P
B
g 172
& it | 81,264
5%])
X5 EREFTR A AB HE
Wiz = 1,861| 105 AT
KR 266(25% AT
AR 2,576(156 &
=] HER 2,508| 113 Ffr
PN EBER 2,706| 52 AT
i TER 409|90 & Fir
# Hrim e 7,528(200% Fir
AN 4,603|128 I Ff
HE)I[E 1,443(159& Ay
FDh (37EFFIR) 11,876|9828 A
Ei 35,776(2,010%E A




AFEEDIKR
(MAKHE r == _ _
=3 - i WEN e WE DK
= S5H4ATEREIZELS
171 | BBm™ 3 2142
116 | BRI 1
. SHAATTBREIZELS
135 | ZAEITH 10 14
105 | HA#™ 1
61| BiAm 12
83 | FHIERAT 3
27 | £ EEWH 1
274 | #HEW™ 449
57 |.264 EtEET 589
= 39 | JLRETHT 2
187 | 1RIEMT 11
276 | = HET 19
264 | KHEHT 65
254 | WEEHT 27
276 | EIIHT 128
119 | BEH 4
262 | HbET 100
75 | EREESRT 1 £ = 5
SHA4A1TEREICE
263 | LxbhET 308 23
B 1,734
135 ZBE)I|lh 1| KBF AL BT X
274 *HET 10
264| EEHEET™ 86
39| [LEPHT 1
17| 149| #MEIZEHT 2 7[5 3 X 545
| 276 =[EHET 7
| 254 KEE 1
BH| 254] WMWE 8
| 276 CRIIHT 55\MiiE (FF35) . ZaF
41| BEM 1
262| Frihfy 10
245 L\bhEm 42
it 224
109 | f=2Bm™ 1
28 | HFT™ 1
25 | REHM 2
23 | KWRHT 1
5 37 | A=EHR 1 5 x 5
= SH4ATEREIZEK
@) 3| mRE |7 Y
149 | FEEFHET 2
60 |  EIZHT 2
60 | KHEMT B FHHIERE S
102 | L\bhETH 3 AB1ITHREICLD
§ 84
= SHA4ATTBREIZELS
171 | BB™™ 15 3N
93 | —A¥TH 3 4JEJ7E$%£]L:_5;%,
. SHA4ATHREIZELS
94 | FEMH 3 =10
115 |  [E & HT 20
34 | ZEYTHT 1
102 | ARlh 1 AH1THREICKD
93 | ZAE ]Il 1 A4A7TBREICLD
36 | HF™ 4
11 =AM 2
18| XEH 1 . sy
SH4H1TEBREIZEK
102 | AJIHET 4 SN
32| EJIF 3
B 14| E)IHET 3
S| 19| =ZHT 2
EZ| 20| g™ 2
18 | PHIERAT 4
45 | KWRET 6
65 |=iEE T 6
103 | Bl 1 4H12HREICLD
7| BEKHE HEZ==)
10 (&2 THT 1
10 | &2 BHT 1
149 | EEHHET 57
10 | FRIEMT 3
19 [ JIIAFE 1
6| XWIEHT 1 SR E S
72 | FibHT 3
50 | . BREEH 1
102 | L\pHEH 1 AR1TBREIZLD

i

152




4IEEDINR

OERBE
mE| hETAA | B | HEH | AH hX4£ [RE-KRE S
231 | @Bm 148 148 B HEHMIZH
249 | —A¥ATH 7 7 23
250 | {FEm 24
260 | ANEM 3 3 10
116 | ERHET 60 60
167 | SETHT 50 55
159 | JI|{=HT 28 28 83
131 | RKEH 2 2 6
277 | EBLUT 1,742
274 | 2BE ]Il 618
203 | Hf™ 6 6 19
256 | SEAHET 196
93 | KFRF 53 3
135 [ AJIIHT 1 1 2
270 | =FHT 23 27 71
179 | /MEFHT 4 4 8
& 276 | H:lm 214
% 192 | AT 35 35 95
192 | SRIEZHT 48 48
159 | hEH 3 3 10
262 | KWeHT 277 277
123 | WREHT 1 1 4
204 | &SEEWT 4 4
163 | FEEKHT 10 10 41
32 | SEIRTHET 2 2 2
260 | MHEM 1,038
248 | FAMEEETT™ | 4682 1,164
247 | [LEPET B 107 HHERE S
2 | EIEHET 50 RERL R E S
7| KA 30 =F SR &
7| MEEHT 58 FHERE S
264 | FrihET 548 463 | 1,439 [ KPP k&, 5k, 8960, SR FEAES
277 LWbhZEmh 6,179
& & 16,144 | 2455| 1,813
231 | f@BEm 1,354 | 1,354
249 | —A¥ATH 161 166 602
250 | {FEmh 128
260 | A=W 68 70 213
165 | [E RHT 139 139
244 | Z=3ITHT 151 151
169 | JI{=HT 12 12 36
179 | KREH 2 2 8
277 | EBLUT 7,537
274 | ZB& ]I | 1,985
203 | HF™ 22 22 80
256 | SEAHET 509
93 | KFRF 107 B3
219 | AJIHT 17 18 62
278 | FEJIFE 15
157 | RJIHT 1 1
278 | EHERET 1 11
270 | =F&FHT 48 52 139
" 270 | /NERET 21 21 73
= 276 | H:lm 1,142
192 | AT 200 200 540
192 | SRIZHT 163 163
242 | HER 15 15 69
274 |  KWeHT 1,328 | 1,328
236 | HREHT 11 11 33
272 | REHT 1
204 | &EEWT 26 26
163 | B CHT 12 12 42
258 | &2 T HT 3 3
24 | FZINF 1 1 2
230 | &2 EH 1
260 | fHET™ 555
248 | EAHEE™ 975 239
247 | ILEFET <8R 46
7| MEEHT 5 MR E D
264 | FrihEr A~BH 98 337
277 | LhEm | 15,218
=l it 31,944 | 4,161 | 2236
171 8B 3630 | 3,630
215 | — A | 4,031
205 | fHEmH 4,081
245 | K= 1,361 [ 1,361
165 | ERHT 1,262 | 1,262
246 | SEITHT 958 952
173 | JI=HET 253 222 854
179 | KEH 331
277 | APUt | 42,402
274 | ZB& ]I | 7,399
| 98| HE#TH 1,105
ap | 256 | SRAMET 1,435
,'ﬂ?'& 2718 | KEH 1,334 AT
15219 A I ET 648 648 | 1,791
~1159 | EJIF 595
22 | FHEF 80 80
264 | X JI|ET 404 404
193 | THEXHET 293 293
264 | =&HT 550
270 | /NEFET 557 557
276 | HAlm 4,597
177 | oHIERAT 694 694 | 1,853
192 | RISHT 362 362
242 | HEF 968
274 | K WrHT 1,608 | 1,608




QOEREE

W | mETAA | B | HER | A HhX £ [REA- KR E BE
32| HAEHT 594
218 | KEHT 206 | ....206
71 IS ET 270 270
203 | &)1+ 68 68 322
204 | =EEWT 300 300
_ 192 | EEpRET 8
o | 163 | JRECHET 252 252 860
,E'& 258 | &2 IRTHT 19 19
18 26 | _ZINF 18 18
=| 95 |[&EX B 11
260 | MHEM 1,837
6| JIIAF 20 HHERE D
277 | WLhEm | 15,300
& & 99.841 | 13.206 | 5,680
k| 264 | ZBZ]IlTH 32
| 55| ILERHET 30 MR E D
K| & B 62 0 0
BR| 264 [ ZBZ )T 30
T| 248 | EAHEE™ 309 106
Kl & & 339 106 0
QEEREE
WA hEIRA | BE | HXA R E E=E
231 | @Bt 295
100 | —A¥H 93
49 | {FETH 2
200 A=t 13
19| ERHET 1
42 | S=ITHET 5
74 | JI{=HET 4
115 [ Afuth 69
155 | 2B% ]Il 93
98 | H#T™ 114
20 | SEAHET 4
28 | KEH 16
108 | A JIIHT 27
93 | EJIHF 18
19| FHH 3
N 96 | X)I|HT 17
R =) 16
5’3: 143 | =&FH7 6
) 18| HAmmh 42
177 | FaRsT 36
135 | SRIUGH 9 SH54ATHREICKSED 11
18| HhEH 3
191 | KRy 59 SHA4ATEREICKDELDIER
79 | WiEHT 19
18 iSET 1
103 | @I+t 11 254 12BREICKHHD5HE
102 | E% A4 20 SH4A1TAREICLDEDIHE
7| EERhET 5
163 | JEmEm{CHT 6
25 | &2 RTHET 2
26 | R EHHET 3
23| fHEM 2
52 | ILETHET 1
52 | JIINFE T~BH SFHERE S
=) it 1,015
231 | =BT 1,033
100 | —A#H 140
209 | fFEmH 29
116 | ERHT 115
244 |  SyTHT 676
173 | JI=HET 56
278 | AU 3537
153 | 2B& ]Il 4,955
98 | H#T™ 85
105 | HJIIHT 208
129 | EJIIFF 257
207 | EJI|ET 126
103 |  TERXET 146
264 | =FH 236
52 | /NEpHET 28 HHIERE D
276 | BHAlm 1,419
0%) 88 | FaERHT 176
" 131 | RIGH 3
26 | HEF 3
274 |  KNeHT 583
80 | HAEHT <8R 3
22 | KEHET 30
32 | &I 27
204 | &SEEWT 35
2| E%AM 26
36 | AERsET 21
163 | ¥EEACHT 431
258 | &2 IRTHET 215
26 | ZINF 65
95 | SR BE 155
37| TTYERET 16
52 | JIIN*F ~BH HHIERE S
=) it 14,804




